1.0 GENERAL NOTES

4

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS.
1.2 CRITICAL TO QUALITY INDICATED BY (X.X) .

2.0 DESIGN NOTES -

2.1 CLAMPS FIT ROUND POLES 2.38"- 10.75" OD.
2.2 ALL-THREAD TO GO THROUGH WOOD POLES UP TO 11"OD.
MANUFACTURING/SPECIAL REQUIREMENTS

3.0
4.0 TEST
5.0 PACKAGING

5.1 PACKAGING SHALL MEET ANDREW REQUIREMENTS PER DOCUMENT [S-PL-3005, COMM-PL-2044, BX SERIES

5.2 PLACE ITEMS IN POLYBAG
5.3 PRINT THIS DOCUMENT AND PLACED IN BOX FOR CUSTOMER REFERENCE

5.4 REFERENCE DOCUMENT PACK-MTM1117-6000-XX FOR PACKAGING REQUIREMENTS

COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.

ITEMNO.| PART NUMBER DESCRIPTION QTY. | NOTES
1 MTM1117-6200-XX |[WELDMENT,ENCLOSURE POLE MOUNT,MV2 1
2 MTM1117-6103-XX |BRACKET,CLAMP,ENCL,4.5"-10.75" OD,MV2 4
3 MT-382-16 5/8" X 16" GALV THREADED ROD 4
4 MTC9416 M10 X 25mm HEX BOLT SS 2 52
5 GB-05145 5/8" X 1-1/2" GALV BOLT KIT 2
6 GWLO05HB10 BAG OF 10EA GWL-05 1
A 7 GNO05AHB10 BAG OF 10EA OF GNO05A 1
8 SW-58 BACKING PLATE, .188" X 2.5" X 2.5" W/ 11/16" HOLE 2 52
9 MTC978706 M10 Stainless Steel Flat Washer 4 5.2
10 |MTC978704 M10 SS LOCK WASHER 2 52
12 |SWL-03 3/8" SS LOCK WASHER 2 52
13 |SN-03 3/8" SS NUT 2 52
8700 |MTM1117-6000-XX |[ASSY,ENCLOSURE POLE MOUNT,MV2 1 5.3

4

Confidential

REVISIONS
REV. DESCRIPTION DATE APPROVED
GR1010 JP1130
A INITIAL RELEASE 200CT20 8000043460
GR1010 JP1130
B TALLER PMB 25MAR21 10790PC
GR1010 TN1010
TN1010 JW1064
D ADD PACKAGING 15JUL21 13932PC
¢ | DELETE REDUNDANT HARDWARE, CHANGE 5/8 NUT ZX1005 TN1010
HDW BAG, ADD NOTES 09FEB22 40142645CMO
- UPDATED VIEWS FOR MTM1117-6200-XX (ITEM 1) YC1059 TN1010
CHANGES 02NOV23 | 40182469CMO
G BX461206(ITEM 8000) WAS BX481212DW %ﬁ&ﬁ%@ 50152(;2%,\/'0

>

ANDREW@ an Amphenol company

TOLERANCES SAP MATERIAL MASTER
1PLACE  X[.X]+ 0.2[6.3] 3 PLACE XXX[.X] % 0.063[1.6]
2 PLACE XX[X]+ 0.13[3.0] ANGLES  + 1.0° MTM1117-6000-XX
FINISH MATERIAL
3 NAME DATE | TITLE
ggs |CE JGRIOW 08/31/2020 ASSY,ENCLOSURE POLE MOUNT,MV2 A
9>  |RW|MS1288 06/03/2025
DENSITY Ibs/in® g = ‘é W
o
MASS | 56.64 lbs ] %%E AD [LX1002 06/17/2025 e To0CIENT NG
VOLUME | 6912.00 in aof :
22& |RE [Dmi121 07/31/2025
SURFACE AREA |2592.00 in? 222 [EcN 50102942AMO 1 6 MTM1 1 1 7'6000'XX
HEIGHT | 12.00[304.8] SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH | 48.00[1219.2] C @ 6 VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH |12.00[304.8] 09 RE J 11 RE G 10F 2
2 ]



©2.38[60.5] CUSTOMER SUPPLIED
THRU BANDING

®4.5[114.3] /
0863 [219.2]>_\ \/® ﬂ\

N

©®10.75[273.1]

404

=3

I o, | D
< Q e
@ WOQOOD POLE SETUP

BANDING SETUP

CLAMPING SETUP .
AN DREWo an Amphenol company

TITLE

ASSY,ENCLOSURE POLE MOUNT,MV2 A

SIZE SCALE DOCUMENT NO.

C 16 MTM1117-6000-XX

DRAWING

SHEET
@ 6 VERSION | STATUS | REVISION
Confidential 2 0F 2

11 RE G

4 3 2 ]




	Sheet1
	Drawing View2

	Sheet2
	Drawing View3


